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A BB SEE (Lactate Dehydrogenase, LDH) I &iEAH

DIREE 50 B /24 F
IECME RIS A BY 2-3 N FHAZE F 8K BIRE R #7500 22
MEENX :
LDH (EC 1.1.1.27) | ZAFTET 2090 f64. BCEM IR RN, RS2 I R i,
LRI S AR Z R s M, fERE#%E NAD'/NADH 2 [a] EA%,
M ERIE:
LDH f#{t. NAD A FLIR A IR RIS , AR — 255 2, 4 - RS RSP B AL 7R B R —
THFEZERR, ERIE VA R AR, IR 5 I BRI B R b .
EEENEEMAR:
AL e T TEIRAK . G0N, TR R . 1 mL BEESLL AL, BB, UK
LK
B9 2E R FNECH -
PEHU: 30mLx1 i, 4CIRAF;
WA W 15 mLx1 i, 4 CHRAE
WA e WFIXL K, -20°CHRAE, FIEHIN 10ul 3R FLAT 1.3 mL ZRAIB/K 780 i, H
ANFE RG> 25 J5-20°C IR A7, 2510 VR il
WA= WAk 15 mLx1 3, 4°CHRIE;
WY Wifk 50 mLx1 i, 4°CHEEAE
RN WidE 100uLx1 32, 4°CIRAF

FE SR RE B
1. ZHEE . 40 SR i ) 2%

Y B FRANAE . SRR AN B B B B0 N, B0 RS BT IR gl i AR
(10°4N): $RBOBAAF (mL) A 1000~5000: 1 FIECE] (EEL 2000 J3 4058 BRZH AN 1mL
FERGA), S PR R BB (UKTR, ThR 20% 8% 200W, 7S 3s, [A]f% 10s, EH 30
%); 8000g 4°CE&5.0r 10min, HY biE, BUK EA.

ML FIRALRE (g): REVRAF(mL) A 1: 5~10 BB CERBRINZ) 0.1g 4141,
IO ImL $EBURD, BEHTUKIBAIH . 8000g 4CELr 10min, B LiE, Bk BRI,

2. Mg GO FEfh: BN,

MELSE:

1. 60T 30min LA L, VT KE 450nm, ZEKIHE.
2. FEAE (FF BP & WO R IR

RFFN 4 FR(uL) e & X R
FEA 50 50
R — 250 250
1711 50
7RIRK 50

FMIRE], 37°C (A 5 25°C CGLEWF) /KIE 15min
WA= 250 250

FRMIRE], 37°C (WAshY) 5 25C (e /KiB 15min
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kY | 750 | 750 |

FOIRA], EIRFFE 15 /08, 450 nm FIEBOGE, T AA=A WEE-A X
D5 8 7 B — TR

LDH JE R AITHE :

1. FREZAETIEKEIERZ, v = 0.9108x+0.0037  (x NFRAESIKSE, umol/mL; y N
AA).

2. I (%) LDH & it 5

BRI S B mL G CGRD B A= 2E Inmol INERFE & X v —ABEE I 507
LDH (nmol/min/mL) = (AA-0.0037) +0.9108+Tx10°=73.2xAA

3. Yl 4N AZLZR LDH i 5

(1) FFEARE AR

BRI S B mg A R B AEAL = AE 1 nmol P ERER & SCA— /MBS 71 507

LDH (nmol/min/mg prot) =[ (AA-0.0037) +0.9108xV1]=(V1xCpr)+=Tx10’ =73.2xAA=Cpr
TS ANE, AN T BCA & A& &l 2 R &

(2) FEMEAREEER A

BRI E S B g A0 B 2L 1nmol THERER & X — IS 11 807

LDH (nmol/min/g #£8) =[ (AA-0.0037) +0.9108xV1]+(WxV1+V2)+Tx10° =73.2xAA+W
(3D F44H B8 sl 4 ff 25 25 1 5

BRI S B 1 52 R B AR A B AL AR Inmol TNRIR & Xy — NS T BT
LDH (nmol/min/10* cell) =[ (AA-0.0037) +0.9108xV1]+(2000xV1+V2)+Tx 10’ =0.037xAA
V1: ISR R AEARARFT, 0.05mL; V2: JIAFEEGRAARR, 1 mL; T: MK, 15 min;
Cpr: HHAFUAKE, mgmL; W: FEARE, g; 2000: 4HAEEi4H R 2%, 2000 /5.

1. AR ZEMEVEE N: 0.1 umol/mL -2 umol/mL .

2. AAZRYEJERN: 0.01-2.
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